lunsenuieasdnlaasvang genusnduetietisiadiaoagpons

Wnlafnroassing 4 1espmadiudzzwineslon deduluumiiaenddalime
ddrylumalszauanumnessinalsslus Swensanaalu 2 dnwniie
1. madnlapuungansisresrnuduiutsouinalsslen
(Understanding different kinds of sentence relations)
2. sl EINETeIAYE BRI TR W B AT AN T

(Understanding different kinds of references and pointings)

3.1 NTEILRANEMINET L ATRIATHA NN UETEuILsETeR
a4 - "40

3.1.1 Clarifying relationship wsneDednEcrnsmNdNAuinvi lide

d' " & L4 .«l’ o od % 0 e
mmmqmwmaummﬂuimmﬁmﬂumumu (Definition)  we18ANN
(intensifier) NMsendaeenelszneu (Example) manuduRusseminalszlon 99 3

1 2 '

wuuwusinluuneNdszansing o Aeiugddwandueetisdiommuniae

3 I = A’
U2 AIATa AR INAY

#ingeina Clarifvina relationship wuulsianfieny

Many gifted students attend this public school. That is , students
with both talent and high motivation.

(Feaanumas “That is” MiAdenwuseanud “many gifted students”)
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faeeing Clarifying relationship wyuuagMeA3

Many gifted students attend this public school, Indeed , this
school has more gifted students in attendance than any other school
in the city.

(%l’ﬂﬂ'm:mﬁq “Indeed” yengagNuneineanuisad auawnlingnn
nungeaszlemusnuauding
faeing Clarifvina relationshi AFanei91lsenay

Many gifted students attend this public school. For example |,
Frank Wilson , a highly talented actor , is a senior here now.

(Iamanunae “For example” 1¥sinasineueq gifted student Lazids AN

UNEEB9TEETU)

AnrnizdsslaaftauduRuiniauuuussiipraaiasail

1. Statement + That is , (definition)

2. Statement + Indeed , [intensifier)

3. Statement + For example , {example)

3.1.1.1 Asnadieuwnieing o aeansldAtieng

dl' | TN} =8 T 3 o~ :l‘
Wegarunsuiamnnduiutszning 2 dszlomdnwoueil
< + o ;7 - 2 1 0 ar AJ E 2/ 3’: 2 =i o
@ﬂlﬂ@’?tﬂuﬂﬂﬁﬂﬂﬂﬂﬂ’m Cl"I'W]ﬂQﬂWUﬂﬁﬂWﬂ%ﬂﬂﬂﬂﬁqqﬂ'}ﬂ U NAFIELALUNRS
= eal = S8 9 | TN ) 3 o o =5 =l n‘ [ ' ' 1
w13 5187 wponwNnelggndala  gEuAetaAIuT 29a RYAnguetusas

t v
1lszlamlild uazdsnisld AasnatnauRuFNA
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5.

Statement

3.

Statement

Statement

—Staterment———

Definition

€.,
(that s,

that is,
I.E

4
{
{ - that IS,
{e
1

ad o A N *
Twnensdiidunsdil 5 dadenfiuen definiion enaazgnazlilugun

dhla wridowlnginaslduuuleunumitsmnaulasatrednan dindnwmasazi

v
AN IR HRUSANTLSIE AFaneng

1. City peopte need a sense of belonging ; that is , they need to feel

they belong to neighborhood.
City people need a sense of belonging | i.

they belong to a neighborhood.

e., they need to feel

2. City people need a sense of belonging (that is , they need to

feel they belong to a neighborhood).
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City people need a sense of belonging ( i. e., they need to feel
they belong to a neighborhood).

3. City people need a sense of belonging -that is , they need to
feel they belong to a neighborhood.
City people need a sense of belonging - i. e., they need to
feel they belong to a neighborhood.

4. City people need a sense of belonging ; that is , they need to
feel they belong to a neighborhood.
City people need a sense of belonging : i. e., they need to feel
they belong to a neighborhood.

5. City people need a sense of belonging. That is , they need
to feel they belong to a neighborhood.
City people need a sense of belonging ; I. E ., they need to

feel they belong to a neighborhood.

3.1.1.2 887613 7 IIMsENEAITY
¥ ° N .
suunmeamsrenaanudnireilazidin  intensifiers 11
ndamAIN ﬁﬁ'l.ﬁun’ Indeed , ‘M?ﬂ In fact u'ﬁ‘"ﬂ As a matter of fact

o v | 74 - T :
FIFRENY TATIRTIITRIANTHANNUT A

Statement Intensifiers
1) . indeed
2) . In fact ,
3) . As a matter of fact ,_______.
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maatharssandutudansastisnsasAnm gz nfatig  aafanndn

-J * ° -n' J b 4 v o
ﬁ'ﬂmwwmuwmvm’lﬁmmnuw-ﬁ’mmumwu DAIHVHIENINNINATUALIRY

1. City people want privacy. Indeed, they insist on it.
2. City people want privacy. In fact, they insist on it.

3. City people want privacy. As a matter of fact , they insist on it.

3.1.1.3 msWileniadszney

sUuvuredispImT e un Ustloauilalidnyy
hudemruianreddny (Statement) SmlszTumviiaiidencaiidusietiares

9 - -J o . vl M
Ustlupanszdndty Uszloafiindaemd For example w78 For instance 6iail

Statement

{For example }
For instance,

S, Many schools are solving the teacher shortage problem by

using different kinds of mass-instructional facilities. S, For exampls ,

they may use such a device as closed-circuit television.

Y Y - X vy
TDAUTNVUL S, A8 statement S, TUBUMAIL For example,
* L] -J ¥ - : - [ 8

Aovstaasetnalsznsudioaunnanly S, Anfumannduiusseszion
»
YanAn exemplifying relationship

L 1 3 . v

demraduuensazldad  For  instance  Alaaruwing

it -~ [ % d"l
UsUNY AYUAR
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S, Many schools are solving the teacher shortage problem by
using different kinds of mass - instructional facilities. S, For instance,
they may use such a device as closed - circuit television.

luU'\aﬂ'B:’aQ'fjfuuqzwuﬁﬁfi'\ ‘namely’ RAuvEEdn gw uieds
ARG Aednettedeindandnmd  uwiternuiisaanias
Fnwosnfhundlildsslon Acmmnefmuaniidneasdunslifethaews
(Precise description) Faatinugu

Pennsylvania has given Americans only one President ,
namely James Buchanan.

« o

31.1.4 fanssu@t 1 snudernuwsiaciauasiiaszisat
1. 1m douiif statement (ST)
2. B0, dauiilludndions (DF)
3. oenan O ludauans ST Pdndenudniudii

1 One common type of student is the <conformist> - i.e.,

the student who feels that school is a place to learn what think
and how to behave.

2 Malthus believed that the word’s population grows faster
than its food supply ; this is, there is not enough food to feed
everyone.

3 Those who are not qualified for office work can usually
get a waitress job (i.e, these who can't type sixty words a minute,
and who aren't experienced).

4 European universities are integrated organizations — i. e.,

the faculty and student body are unified.
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W2/ SO INO

- VLI IE

[ o4
H

5

At some schools, physical fitness program are often

neglected while competitive sports programs are emphasized. That

is, courses that stress developing muscies and body coordination.

- ‘il 1 j 3 1 1 - € o 4&‘
NANITUY_2 BSTUIDANNUSRZIAUATI LATIZUAIU

- =
NANITNN 3

EN 306 (S)

1. im doufiilu statement (ST)

2. 3R s A intensifier (INT)

3. snan ludaures ST Fdovenduig

Getting to know people in the city is( \hé?&) to_go. In fact,
it is almost impossible.

Bill did not like most of the TV programs. As a matter of
fact, the only one he did like was a documentary on
World War Il

The unmotivated student does not do very well in
school. in fact, he barely manages fc pass his courses.
The truly gifted studént is care. Indeed, it is most
unusual for a student to be both talented and motivated.
John liked the big oil painting in the lobby. As a matter
of fact he thought it was the best thing in the show.

frutaanNusasdauasd imsziindudisnnnuuuulea
seyusiazadnnslugasineditmals

1. daanuimiumnuduwusuuy DF

2. damonulsiluanuduiusuuy X

3. famuladlumonuduiusuuy INT
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1. _EX Waitress jobs pay better than office jobs. For
example, you get tips and a salary.

2. Even though he could not see and hear very well,

Bill thought the play was good. In fact, he thought his acting in it
was excellent.

3. It Is convenient to have a car. In deed, for some
people it is a necessity.

4. Of course , university bookstore must still carry textbooks,
but they should also carry other books (i, e., those books required for
university  courses).

5. Mrs. Smith is supposed to be a good teacher. As a
matter of fact , everyone says he gives the best lectures they
ever heard.

6. U S teachers are more informal than Japanese ones as
a rule. That is , in the way they dress and talk.

7. Usually the documentaries on TV are pretty good. For
instance , the programs which show real -life events.

8. Art shows are not always worthwhile . For example ,

they can be a boring waste of time.

ArdnAutszuinlsslamandreluanludnwois  (Linear)
anRariniflaenisdl (isting) Rnizssysusuatinsdmey WFsudeutuu

liseyduan wissifanludnwousWidayafin (Adding)
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ARALNNLULINITWL

Mass education has caused @ problems. Firstly, it
hasied to a teacher shortage. Secondly, it has caused a
shortage in facilities . Thirdly, it has resulted in lowered
educational standards . Finally, it has meant that special students
have been neglected in many cases.

PO ULUN AN

Mass education has caused many problems. For instance, it

has led to a‘teacher shortage, it has caused a shortage in facilities .

Alsg , it has resulted in lowered educational standards. Finally, it

has meant that special students have been neglected in many
cases.

A meluiesinnsginuasasnmuiiasaieida

- 1

| 3 1 1 £
Wesanifulassaireegannuguinusnnlunsgnunuynats  génetenns

u
]

Aemziauduiuinoely Afegluef samsnensnasssduiiudfusidedu
W s |
WHUNM3WL  Four problems - - Firstly , Secondly , Thirdly , Finally
LLuun'mﬁu Many problems-- For instance, In addition, Also , Finally
A RSN RNSs TN svilaunafadaesne  (Addition of
example) ndsaniszlen statement w3 avsclamanszdndny UseTuafimusn
#nell For instance w38 For example wieanthuseiaden in addition /
also / Finally vwhisrlosaatineiu o fonaan  fhetinanissiudenu

anwoue fisting ueT adding aznandlumsazifeauni 4 seld
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3 3 al
3.2 mewnlapnuminersdmTasfunuiiimiasdvandtamia
(Understanding different kinds of references and pointings)
1 4‘ or & |d. J [ 3
Ugywinrenuneanudinlarenindnsinesginnuilud eddaennsal
o 2] [ - - o~ & ¥

uazA T esmsldnmmduilissnandaresrnudnidniely Anafin
A7 238 launui vl el mankuNuf Aud lafing1onnneu  (Referential
relationship)  Yinliggmuamnsosruuendilaligndies  eansidnlanedi

¥

- z ¥ 1

ArmNnednsiliiu. Augueanisendeann vienissnaumanena q
WWethadnla veeynlslerlunmendangef smuian  lFmufuanete
foasr laillaoadiufioiu weeiu  dstloawissslammciiqnlaqavil

d ] Az i S8 3 . . i t
Fannlaqemilthagdnondh  Wieuefleugnls (Pointing) qidesusiazen

h] L]

o=

b4

o 3 L2 - | 2 b 74 ] 1 o o e 1 ) [ 7 o
dgauarrauTeu;  uanidinleegne wiutn AFRat1nIN T TutaAINdY 1
lﬂl J d’ " :’4 o e .~ 1
uazaaihua? ssminedanios mNMINeTIATTdRIan ulusaattuen

«<al =y o ar ' 4‘ 4' -ﬂl o L% | =R
L&J‘a‘ﬂumﬂunumﬂmamﬂmqmmﬂmmmu UDLNINAVIPIBIDABIAIINANNGD
ot =t U “ & o
*nmQﬂﬁuMﬂQWNQﬂdquluuﬁ’uwuﬁnu

3.2.1 AetNANNuNNg referential meanings

S, We do not like my French class because it is very

!
difficut and impractical. S, It_is diff?gmg because we have to

memorize lists of words which are hard to pronounce every

Ny ‘
night. S; And it _is impractical because we have no use for it

outside.

S, We do not like my French class because it is very

) -
difficult and impractical. S, It is hird to memorize a longs list of

many words which are difficult to pronounce every night. S, And

it“ﬁseless to study

of class.

because we do not have to use it outside
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fopanuiagasietewyadad sadafuaamsnamiiowty  wig
1 d' ' g 1 b 73 1 ¥ & Gii ' 4
grufiguiintausnandnlrlfwatndaian mzarimneiseiies
sewineUsslemdiudoiau (Explicit referential meaning)  luanuefidnatine
age AnuNNeRBitinrTwinlszlarasdilaennnd lesanngideuldlalda
g < 1 (% ¥ [ c'i’
gunilaudenansusn sulasainrssaouduiugieil

=" S

S, We do not like French because it is very difficult and

impractical. S, It is difficult DECAUSE i S, And it

is impractical because ..o .

difficut ——5338,

impractical—» 5,
S, We do not like French class because itis very difficult and
impractical. 8, It is hard to memorize long lists of many words
which are difficult to pronounce every night. S, And it is useless

to study because we do not have to use it outside of class.

difficult = 3,

impractical = S,
ﬁq'atjw,nné’émmmﬂfmwiatﬁmmm:iﬂmw%ﬁ It is difficult
because...It is impractical because... u,m'ﬁﬂmﬂuﬁﬂmé@m‘tﬂlﬁndn
Friasrlon  AruantTINTeg S, AuWudiy difficult  ANNMNNETINTS

S, fuWusiu  impractical.
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Bl 4 + ] ¥ L4 L < -
fanssund A uewavsiellil udminnsdiensvdnansdaiug

swinaselem iWeuwn referential relationship

S, The energy value of food is usually measured in

calories. S, A calorie is the amount of heat required to raise

the temperature of 1 kg. of water by 1°c. S, The number of calories

people need per day varies. S, Also the number of calories

you use at any one moment normally depends on the activity you

are involved in. For example , you need more calories for
standing than for sitting , more for running than walking, and so
on.

(@ nutisde Interface i1 104)

Questions

1. identify the subject of each sentence and write them down
below.

ubie

-

w w W
N\

w

o w
»

wm
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2. How are these sentences related ? Discuss the relationship among

subjects.

3. Indicate the function of each sentence in a paragraph the first
and lastones are done for you as examples.

S, introduces the term ‘“calories” as the energy value of foed.

S,

S,

S,

S, examplifies the idea specified in S,

322 AnEsU0IAunuR (Referent)

!:: vt o [l 3 = =Y = [ n‘ + t g’
’l.umqmas‘qmuunqzwm'\amﬂuﬂzluuﬂuwﬂuﬂfmnmamnﬂum
- -] 1 <4 i", 9 o -l‘d'd a‘d‘ } 3
wae tranludiune (Referent) 3 aunanieasliAuminsiaanumunediidng
L4 . . 1 v == 3 [ ] [V 4 1 -] 1 a‘l‘ di] -5
win  (Pointing) #e1uRwissdlatisanuduiuiszndnsmuvanuinenay
gruatndnlanIMNIEFeIEinT  uRzRINAd ATISTLTIEINA AN L RAILA
1 i 1 k4
auldatinagnsing
1] i A - i L3N 4 1 o H
Aldunud  dnAnedauiveginasdnladuilusnassnunainlg
© d' - [ : li! | aw o 3 ' li‘
LAY TaTaudndnUssnniazunadiniieuiuAiunn  usiesunuloly

vane o dnensz BidAnduiudn  esandlund windhallun  Lishis
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@WWITAON  UnAnmdadd] ndanm uwasnanudnls | murnauiluldees
o ] 3 -’l’ - o § 1ol 4 = & -‘-l
mslAumiing i Teinninovanauuy wdusfentesdilew dngwiives

v
AURATULANFN IR IANUANT

o~

fanenefl 1 seathsineandiiiasnainundoutasismonylusnm EN 306
IJ ) t
upzannay Teldeyliinedansniy 4

1. Before Hellen Keller was even two , she was aiready blind and

deaf. At first , her parents took pity on her condition........

(47N EN 306 1 88)
Referent @8 "her conditions® HNAMNWNIBAINNUENPNNNETIN Y

yselemudn

“She was already blind and deaf.”

2. In  women’s eyes ,_public achievement makes a man more
attractive as a  marriage  partner. But for men the situation is

reversed.
(37N EN 306 w1 270)
Referent fg “the situation” HpnumanedRusAsdenaiinenunniay
e “public achievement makes a man more attractive as a
marriage partner.”
3. The second is that if it were not for greater appeal of
creating and cherishing young human beings , females would be

as creative as males. If thisthe case ,then...........

(31N EN 306 Wi 270)
Referent A if this were the case unulsmarueguszien if

gutih  Ag if it were not for greater appeal of creating and
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cherishing young human beings , females would be as creative
as males.
4. Dr. Patterson also uses spoken language with Koko. Because
of this, Koko can understand hundreds of spoken words.

(3N EN 306 Wi 161)

Referent #Ae ‘"this* wnusslemfiundrowdihda  Dr. Patterson  also
uses spoken language with Koko.
5. Modem English and Modem Germman resemble each other
because they are derived from same common Germanic parent
speech.

This original language is no longer existence.

(3N TOEFL, Wi 27, 1982)

Referent Aa This original  tanguage UNUIR  same  common
Germanic parent speech.
~ 6. The human brain responds to sudden fright by signaling the
adrenal glands to release more adrenaline into the bloodstream. This
substance prepares the body instant exertion.

(dn TOEFL,P 26, 1982)

Referent Af "This substance” WA “adrenaline”
7. The govemment gave money to people to help by homes

outside of the cities. This system of subsidized housing caused

many people to leave urban areas.

. . . > d
Referent = This system of subsidized housing $amanunatszlaafinanoann

neu
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The government gave money to people to help buy homes outside the
cities.
8. The members of the family were so_angry that | decided to stay
away from the house until dinner. Their rage truly frightened me,
Referent ‘their rage' Wy "The numbers of the family were

S0 angry"

9. | begged the family not to kill the scorpions, and they finally

tistened to my pleas.

Referent 'my pleas' uny "I begged the family not to kill the
scorpions.”
10. Chimpanzees do have a wide range of calls. These certainly
serve to convey some types of information.

Referent ‘These" umuid "a wide range of calls"
11. After humans , however , the factor which most determine
whether a particular species of tree will proper in given area is

climate. In particular, the amount of rainfall and the range of

temperatures that a region experiences strongly affects the
distributions of tree species.

(3N CRACKING THE TOEFL , wih 240)

Referent “the amount of rainfai and the range of temperature” unu

A131  ‘climate’
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12. Brushing away the soil that hides an artifact is like brushing
away time. The tiny fragments help to create a more complete
picture of the past. |

(37 CRACKING THE TOEFL , wiin 246)

Referent “the tiny fragments® unuAd “soil®
13. After painstaking removing layers of soils , often using small tools,

they look for artifacts. This_process continues until they reach an

undisturbed layer of soil which has no trace of human occupation.
Referent "This process™ WuAuuNne “removing layers of soil by using
small tools”
14. Many divorced parents do pay to support their children. But others
have problems disciplining themselves to do so.
(870 EN 306, wiin 11)
° ] -t -‘ 3 1 2
Referent 7191 "s0* W8 to do s0  UMUAMNMHIEANEIT W to
support their children”
15. Staying  healthy today means more than just going to a doctor
when you're sick. You must also actively take care of vyourself.
This means leaming about your body and the diseases you
can get.
Referent "This* Anuminaduiustiddinawin  "You must also  actively
(3 } 1 a" vy ‘\l -, - v v ‘x '
take care of yourself." MmN INFByaRMANYT srenoliitlannywin

=&
winttanzly
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Aanssu® 5 wuudl nisutteun referential meaning atingine |
asnderaiitpasmneduiusiuluseialsylon
wsiazh Awinatinadousn
1. People get to knows one another at neighborhood stores.
This gives them a feeling of belonging.
Referent "This" &uAufuTauny *get to know one another"
2. In order to get an office job , one should bea good typist
and have experience , These _requirements prevent many people
from getting such job.

Referent "These requirements” uni

3. Although a bookstore is just as important to the university as a
library or a laboratory, many universities do not have an adequate one.
Referent "One" uny

4. Japanese films are often more realistic than American ones. The

laiter are often mere fantasies.

Referent "The latter® wnsd

5. Hired troublemakers created chaos in the convention hall.
Everything in the auditoium was in total confusion by the time
they left.

Referent “auditorium® W

- o . o . :
Danssad 6 wuLl nvimiewn referential meaning Meluayian
. T o o ¥ -
wehuspandidall udametAnnied edldauysod

S, Nommally , when we think of plants, we think of
things  with roots_and green leaves. S, In fact , of the 335,000
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known species of plants , about 99 percent are just what we would

expect. S, However,  this- description is too simple, We can see
this if we examine the two main subkingdoms of plants.

("n EN 306, wi 181)

Questions

1. Using the words and phrases in the passage above, complete the
blanks below.

Referents Referential Meanings

S, plants

S, ___what we would expect

S, B plants as things with roots and
green leaves
S, this

2. What is the function of "In fact’, (S,)

Analyze its relation to S,.

3. What is the function of "however” (S,)

4. What is the function of "if* (S,)
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5. What is the relationship between S, and S,

Nanssudl 7 nisnueyaniiearudinlata referential meaning Aaudnedu

9 T 1 dy 9 o 2
AU ADIUBYAN m‘s'h_lu LAIPAUATDIHNNIEUN

Old Peocpie in America

S, In general, the people in America are getting old. s, Of
course ,everyone grows older, but the number of people over age 65
made up 11.4% of the population of the United States. S, In the
year of 2,000 , this group is expected to grow to 13.1%. S,
And in 2,050 , it willbe as high as 21.7%. S, One reason for this
is that people can now expect to live longer than they used to.
S Although onty 1% of the population lived to age 85 in 1981,
by the year 2,050 this number will probably increase five times,
to over 52% of the population. S, As a result, the balance of

different age groups is going to change greatly.

(EN 306, %% 153)
Questions

1. Using the above words, phrases or information complete the bianks

below.

Referents Referential Meanings

S, everyone

S, this group
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Referents Referential Meanings

it

E -

this

o

this number

different age of groups

-~

I R 7 R o R 42

What is the function of "but® (S,)

3. What is the function of "although" (S,) ?

4. What is the function of "As a result’ (S,)?

5. Exercise on understanding inferentiai meanings.
Complete the sentences. If you donot know how to make an
inference, review the text book. (W1 172 -175)
1. §, : Of course, everyone grows older, but the number of peopie
over age 65 made up 11.4% of the population of the United States.
Thus , the number of people below age 65 made up__ % of
the population of the United States.
2. S, : In the year of 2,000 , this group is expected to grow to
13%. Therefore, in the year of 2,000 , the number of people below
age 65 made up ____% of the popuiation of the United

States.
Therefore , in the year of 2,000 , the number of people below
age 65 wil be percent more than present.
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3. § :In 1981, only 1% of the population lived to age of 85.
Accordingly , In 1981, about % of the population in the

United States lived to the age below 85.
4. 5, :by the year of 2,050, this number will probably increase five
times, by the year of 2,050 , about % of the population in the
United States lived to the age below 85.

*(You may find the following figures useful)
87% 3% 94% 88.6% 99%
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